OSALUETTELO / DELAR / PARTS LIST

PANFgS DESCRIPTION QTY
1 o — 4
2 o i 2
3 il = 2
4 = — 2
5 M : ] 2
6 = 4
7 = 6
8 A 4
9 E 4
10 o — 2
11 e — 12
12 ] 4
13 4
14 % 2




OSALUETTELO / DELAR / PARTS LIST

PARTS

NO DESCRIPTION QTY
15 4
16 4
17A 2
17 2
18 4
19 4
20 4
21 4
22 4
23 1
24 4
25 4




OSALUETTELO / DELAR / PARTS LIST

PARTS
NO

DESCRIPTION

{jwaag-  ST5* 10 mm

M5 * 10 mm

M6 * 12 mm

M6 * 15 mm

[]: M6 * 30 mm




STEP 01
- T

STEP 02




STEP 03




STEP 05

3




STEP 06

—_

284 285
34
34
5 (4)
" <]
I
2
3 4 5
@
-1 1 L 1

o 2 (e




STEP 07

e 30 (X16)

21 (X4)




STEP 08

= a1




)
i > K
= %)
4 e

6 (X4)

=

10

33 (X10







I AN

687

9 (X2) 0 27 (x4 (=33 X4 »




=33 04

o/ 28 )

STEP 16

38&39

5

13




STEP 17

‘
RIS SRS
RRRIOEILIIIRI A RILIRL
o SRRIEILLS
RS

2%
2
35858

3588
D9S8
3%

XX
X X
XXX RIS
2 029592029.929°9-0-9.9 .9 9.9 99 9 V9 VAV VvV
s

KKK
KK,
R IRRIRIAIRK.
SRRRKKS
SRKKKK,
QKKK
QKK
RIKERLKKL
LRIERRRKL

RRXA

&S

<
95009099,
X

<
s

XX XX
0000 0 00000,
0% %% % %%

%

%
5
pode!
Pa%%

XRRRKS
SRXRKS
KRS
SERRXK
SRS

XRRRN
£%%% %%

o

SXRXRRURIKS 4
0 ILRIIIRRLKNN]
0 RIIRIIKIKKINA

<

o
o
55

0000000000000 900090900909
02020002000 20.20 2020262026 % %%

35
RIS

KKK KKL
2% %% %% %!

%%

q

$RRX >

$RRAIXRAS
R IIRIIRIK?
RIS
3RS
SRIRIK
nvwab%o

<
%

222
2%
S ‘0 X0
X
R
%
1
XX

%%

&
%
%
&%
3%
p%!

5
RIS
ROKKKKE,
RKKELS
QIKKIKL
o
o200 0%0%6%

e
%
O
KL
XX

e

%
V%

SRR R R RIS
R REIRRRRRRRREY

SRR SRR
R0 SR RRRIRIIRRANKIA
P X RRRRRSIIRNALIE

14




